, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers,

50, will be treated as malpractice.

, appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification
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........

Exit Veloc1ty=— \Wmd Veloc1ty and Pegiax =
v

What are primary and Secondary energy sources? o (05 Marks)

Explain the significance of Energy Consumption as a measure of prosperity. (05 Marks)
What are the Conventlonal and non-Conventional Energy' ‘Sources? Describe briefly mention
the advantages of Renéwablé energy. (10 Marks)
i)Solar Azimuth' xangle ii) Surface Azimuth angle iii) Solar Altitude ’ (05 Marks)

iv) Zenith anglex(Oz) v) Declination angle}*
Determine’ the Local Solar time and declination at a location latitude 23%15'N. Longitude

77°30'E¢ at»12-30 IST on June 19*“"Equatlon of time Correct1on is given from standard
chart= -(1 01”) 4 : (05 Marks)

of Angstrom type Pyrhellometer (10 Marks)
ﬂ

What are the main Components of a blot-plate Solar Collector. Explgm with a neat big

working principle and functlon ofeach components (10 Marks)
With a neat Sketch, :Explam the following: ' "%
1)Solar Cooker N )’ Solar Green Houses > (10 Marks)

Explain with a neat dlagram Solar Pond electric power plant with cooling tower. (10 Marks)
Write Short Notes on: :
i)Solar-water pumping systend” )
11)Methods of energy storage (Block dlagram representat1on) (10 Marks)

8

. 27g.c
Describe w1th a neat sketch the workmg of a Wind Energy Conversion System (WECS) with

pAV; (10 Marks)

main Components (10 Marks)
What is Pyrolysis? Explam w1th a neat figure Small Scale Pyrolysis Unit. (10 Marks)
Explain the Constructlonal ‘detail and working of KVIC digester. (10 Marks)
Explain with a block diagram Anderson cycle Ocean Thermal Electric Conversion (OTEC)
Explain bnefly, kTu&ial power plant Double Basin operation. ?32 x::l:;

1o0f2
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The observed difference between the high and low @ er tide is 8.5m, for a proposed tidal
site. The basin area is about 0.5sq km which cangefierate power for 3 hours in each cycle.
The average available head is assumed to be@§m®md the overall efhmenc%' of the generation
to be 70%. Calculate the power in h.p at an %@stant and the yearly outp tyAverage Specific
/mt’. @g ) (06 Marks)

Explain with the help of Block glagrax% the main components og%uel Cell System.

AN A ¥ (10 Marks)
What are the advantages and 11m1tat10ns of Small Scale Hydro electric power generation?
£ (10 Marks)




